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General Instructions :

Read the following instructions carefully and follow them :

(1) This question paper contains 34 questions. All questions are compulsory.

(it)  This question paper is divided into two parts — Part A and Part B.

(iti) Part A is compulsory for all candidates.

(iv) Part B has two options. Candidates have to attempt only one of the given
options.
Option I: Analysis of Financial Statements
Option II : Computerised Accounting

(v) Questions number 1 to 16 (Part A) and Questions number 27 to 30 (Part B) are
multiple choice questions. Each question carries 1 mark.

(vi) Questions number 17 to 20 (Part A) and Questions number 31 and 32 (Part B)
are short answer type questions. Each question carries 3 marks.

(vii) Questions number 21, 22 (Part A) and Question number 33 (Part B) are Long
answer type-I questions. Each question carries 4 marks.

(viit) Questions number 23 to 26 (Part A) and Question number 34 (Part B) are Long
answer type-II questions. Each question carries 6 marks.

(ix)  There is no overall choice. However, an internal choice has been provided in few

questions in each of the parts.

PART A
(Accounting for Partnership Firms and Companies)

1. Jim and Joy were partners in a firm sharing profits and losses equally. On
15t April, 2024, they admitted John as a new partner for 1/5t® share in the
profits of the firm. On the date of John’s admission, the Balance Sheet of
Jim and Joy showed a debit balance of ¥45,000 in Profit and Loss Account.

From the following, what will be the accounting treatment for this balance

on John’s admission ? 1

(A) Debit Jim and Joy by T 22,500 each and Credit Profit and Loss
Account by T 45,000.

(B)  Debit Jim and Joy by ¥ 18,000 each, Debit John by 9,000 and Credit
Profit and Loss Account by T 45,000.

(C)  Debit John by ¥ 45,000 and Credit Jim and Joy by ¥ 22,500 each.

(D)  Debit Profit and Loss Account by T 45,000 and Credit Jim and Joy

by ¥ 22,500 each.
ANAANAANANANANAANANNN
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2. Toua, 19 9T Y Uk BH H HEER O AT ATH-BI T SUS-a0e IS R
g | 1 37, 2024 FI FE BH & HATHIT & TAT AT TI0eT T AW ok o= T A
forTei e1qaTd 4 : 3 T ot vty form T | | St Aarfe i wowd et w5
A % 2,10,000 foham e | 7€ fofg foram wan o wnfer @ @ier fomm et s
TRGTeF foRAT SITET | ST 6T Fenfaf T @A o w@ieh o g |erent o it @t

1 forat Tt & Sfere a7 shfee fomar s 2 1

(A) 91" 1 QT ¥ 70,000 ¥ fee, fomer qom N9 =1 AW T 50,000 AT
£20,000 ¥ shise |

(B) fomer == 50,000 @ Sfere, M 1 % 20,000 T Sfere T 1@ 1 T 70,000 &
Hise |

(C) foue, s T 99 Y% & T 70,000 ¥ shige qUT TAMd @
£2,10,000 ¥ Sfs2 |

(D) fomer 1 ¥ 1,20,000 ¥ 3fere, = BT ¥ 90,000 ¥ fere qT N T @il
£2,10,000 T hfse |

3. U, T, ThIY QAT NS Uh HH H WISGR A qAT5 0 3 1 1: 1 % JuTd § AT9-81
T TSI ohtd 91 | 1 378, 2024 31 & HaTiad & T 7T =G, YehreT T Tfag 3
3Goh YT o7 STTRITRUT STSH-SITSIE L ToTT | TweL, TehTRT T TiTae ohT 3T Ty ferrsi

TTITA B : 1
(A) T7:4:4 B) 15:8:7
C 1:1:1 D) 16:7:7

4. 13, 2023 1 =T AT 5 T 100 T&AF % 9,000, 12% RO T AT 10%
SHTeRr o for, TSehT SMTe 4 ot o e 10% SR o form s | 31 97, 2024

T GHTCT 319 ITet 99 U SRUTIST U SATS ohi 2 T off 1
(A %9,90,000 B) %9,00,000
(C) %1,08,000 (D) <1,18,800

5. QM quT WifeHt Tk W H WIeier off ToT 3 : 2 % ST § AT9-81 T forTSi
off | 31 AT, 2024 T FAHT hT USTT £ 1,50,000 off | a9 9T H I8 10,000 T HTET00
fopam T % 82,000 i FAfafad YSft &g | 31 AT, 2024 T THIG gC a9 H BH F

50,000 3T AT 3ASd forAT | 1 374, 2023 T G ol GSft off : 1
(A)  %1,30,000 (B)  %2,02,000
(C) ¥1,08,000 (D)  %98,000
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2. Vimal, Bose and Ghosh were partners in a firm sharing profits and losses
equally. On 15tApril, 2024, Bose retired from the firm and the new profit
sharing ratio between Vimal and Ghosh was decided as 4 : 3. On Bose’s
retirement, the goodwill of the firm was valued at £2,10,000. It was decided
to treat goodwill without opening goodwill account. By what amount will
the partners’ capital accounts be debited or credited for the treatment of
goodwill on Bose’s retirement ? 1
(A)  Debit Bose’s A/c by T 70,000, Credit Vimal and Ghosh by ¥ 50,000
and ¥ 20,000, respectively.

(B)  Debit Vimal by T 50,000, Debit Ghosh by ¥ 20,000 and Credit Bose
by % 70,000.

(C)  Credit Vimal, Bose and Ghosh by % 70,000 each and Debit Goodwill
A/c by £2,10,000.

(D)  Debit Vimal by % 1,20,000, Debit Ghosh by 90,000 and Credit Bose’s
A/c by £ 2,10,000.

3. Hari, Chander, Prakash and Govind were partners in a firm sharing
profits and losses in the ratio of 5: 3 : 1: 1. On 15tApril, 2024, Hari retired
and his share was acquired equally by Chander, Prakash and Govind. The

new profit sharing ratio of Chander, Prakash and Govind will be : 1
(A 7:4:4 (B) 15:8:7
C) 1:1:1 D) 16:7:7

4, On 15t April, 2023, Mudra Ltd. issued 9,000, 12% Debentures of €100 each
at 10% premium, redeemable at a premium of 10% after 4 years. The
interest due on debentures for the year ended 315t March, 2024

was : 1
(A ¥9,90,000 (B) ¥9,00,000
(C) ¥1,08,000 (D) ¥1,18,800

5. Saloni and Mohini were partners in a firm sharing profits and losses in the

ratio of 3 : 2. On 315t March, 2024, Saloni’s capital was % 1,50,000. During
the year, she withdrew ¥ 10,000 and introduced additional capital of
7 32,000. For the year ended 315t March, 2024, the firm earned a profit of

£50,000. Saloni’s capital as on 15t April, 2023, was : 1
(A) %1,30,000 (B) %2,02,000
(C) %1,08,000 (D) %98,000

67/7/3 #5# P.T.O.
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FretoarRaa & o foreert itom wrgiert wH & e foses o 78t & 2 1
(A) o guft HISET TS Ueh ohl Digeht @it Areier feamforan &1 ol |
(B) T W T @ TR &1 ST |
(C) a1 I3 Wt feufy Ut & ST 3 Areier grr wreiert B 1 Sraar
AT IR 8 T |
(D) 7o Torelt ATEIET AT G BT T |
3TUAT
frfarRaa # @ forerehT aftormm TgerY wH T foreres g 2 1
(A)  ThHHEETH T |
(B) U WISIGR o faaferam &1 S |
(C) T W T EE TSI 81 ST |
(D) GTEEr Y e gaTe 2 ST |

T qAT G T H | ATeier off Qo7 3 1 5 % 0T § AT-BT a1 for o
et off | 31 AT, 2024 T 38 BH Y fomfed S 1 (i foram | foeres i
farfer st e ot farfer foramor £ 80,000 o forferer aem e gard =T WM @i
T % 5,000 T 1 301 T&T o7 | forferer 3eR @rd ot s i o foTe el @rd o

fepeT T Ediaia shi e 2 1
(A)  ¥75,000 (B) %85,000
(C) %80,000 (D)  %90,000

AT

e, o AT MHT Toh FH H TSGR & AT SATHT ohT SRR TS st
| 31T, 2024 T ITeh! BH o1 forereT 21 7 | 36 fafer sy S @mar 10,000

o1 STHT 1Y T L&T AT AT a1 @I § % 15,000 T 79 T A7 | Gt AT oh1
fueT < & gRT TohaT T4 | T 2,000 % Tk SHER e T Shis sish @TdT 81 o
A: IU TG A [T TAT | §Hoh YT T I SRl sfsh H STHT 3hleh 7T Tl
o R foam T | ) @A s R St USHTHE=T Uity g 1
(A) TEIE H T 10,000 H Sfere T e @1 &1 T 10,000 ¥ hise

(B) T @ HIZ 10,000 ¥ shfee T sk @Id T % 10,000 & Sfee

(C) s @ o T 13,000 ¥ Sfere a2 T @rd &t 7 13,000 ¥ shise

(D) T @ I F 13,000 T e qr S @1 ' T 13,000 T shige
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6. (a)  Which of the following will not result in compulsory dissolution of a

partnership firm ? 1
(A)  When all partners or all but one partner become insolvent.
(B)  When the business of the firm becomes illegal.

(C)  When some event has taken place which makes it unlawful
for the partners to carry on the business of the firm in
partnership.

(D) When a partner dies.
OR
(b)  Which of the following will result in dissolution of a partnership
firm ? 1
(A)  Death of a partner.
(B) Insolvency of a partner.
(C)  When the business of the firm becomes illegal.
(D)  Expiry of the period of partnership.

7. (a) Sandhya and Suman were partners in a firm sharing profits and
losses in the ratio of 3 : 5. They decided to dissolve the firm on
315t March, 2024. On the date of dissolution, the Balance Sheet of
the firm showed a balance of ¥ 80,000 in sundry debtors and a
balance of ¥ 5,000 in provision for bad debts account. How much
amount will be transferred to Realisation Account to close Sundry

Debtors Account ? 1
(A) ¥75,000 (B) ¥85,000
(C) 80,000 (D) 90,000

OR

(b)  Dev, Bhudev and Shamdev were partners in a firm sharing profits
equally. On 315 March, 2024, their firm was dissolved. On this date
the bank account showed a credit balance of ¥ 10,000 and there was
a debit balance of ¥ 15,000 in the cash account. All payments were
settled by cheque. Ravi, a creditor of ¥ 2,000 was not having any
bank account, therefore he was paid in cash. Afterwards the cash
account was closed by depositing the balance of cash into the bank.

The journal entry for closing cash account will be : 1

(A) Debit Cash A/c by ¥ 10,000 and Credit Bank account by
10,000

(B) Credit Cash A/c by ¥ 10,000 and Debit Bank account by
10,000

(C) Debit Bank A/c by T 13,000 and Credit Cash account by
¥ 13,000

(D) Debit Cash A/c by T 13,000 and Credit Bank account by
13,000

67/7/3 #74# P.T.O.
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10.

67/7/3

() 1 3agR, 2024 ! (e fAfiee 7 100 T % 6,000, 11% FIGET A 10%
e W frifaa fomm, e mes 10% Fiftm @ fomam S | sworws &
frte w et |t

(A) ¥1,20,000 (B) ¥60,000
(C) %6,00,000 (D) %6,60,000
YT

@) T fafEes 37 100 93 & 8,000, 10% FOT9=T T T 98 Tfd oy W ffu
ToRaIT | 10% FoTa @Td o STHT 98T § W] sht ST aredt Tisr /i
(A)  ¥9,80,000 (B) ¥10,00,000
(C) ¥7,84,000 (D) ¥8,00,000
T8 qAT & U FH H WISER o | 31 77, 2024 T G gU a9 & Aeg 4 T fommet
o 37d o Usp HTY=rd TIRT o7 SATRTT TohaT | STTET0T 9T T oY 10% ohY & & oI T

forarT STTEITT | A 6 TN W SATS AT & foru yeyriea femam s |
(A) 6 B) 175
(C) 45 D) 3

e qAT IINFET Ueh ®BH H ETER & | 3ra ATl § 1/3 3T o foTT Mifeie ohl Ueh T
HTSIER ST | TMiSe o ToIXT o W B ot feufar foreor € 3,00,000 3 faifare eer
AT Z 24,000 I T JTTT G2;TTET AT | I F0fr T 72 foh gorer R0 Srerer skt
TSR % 10% W T@T 3T |

SR et o forg fferfiaa & & spia-wt Usmmen wfafd wet oo guiwlt 2

P— ’ ot ot
Tw ST
&3] &3]
(A) | T @ aw| 30,000
ESRERIBIERISE] 30,000
(B) | THcHH @l qm 6,000
ESRERIBIERISE] 6,000
(C) | mide o1 @rar ElE| 2,000
ESEERIBIERISE] 2,000
)RS IECI EIL 2,000
TS T @TaT qm 2,000
TMae T @l qm 2,000
ERRERIERISE] 6,000
[ ANANNNNAAANANANAAAANNANANA
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8. (a) On 15t October, 2024, Nirmal Ltd. issued 6,000, 11% Debentures of
¥ 100 each at a premium of 10%, redeemable at a premium of 10%.

‘Loss on Issue of Debentures’ will be : 1
(A) ¥1,20,000 (B) %60,000
(C) %6,00,000 (D) %6,60,000
OR

(b)  Raja Ltd. issued 8,000, 10% Debentures of T 100 each at T 98 per
debenture. 10% Debentures Account will be credited by : 1
(A) ¥9,80,000 (B) ¥10,00,000
(C) ¥17,84,000 (D) ¥8,00,000

9. Daksh and Moksh were partners in a firm. Moksh withdrew a fixed
amount at the end of every quarter for the year ended 315t March, 2024.

Interest on drawings is charged at 10% p.a. Interest on Moksh’s drawings

was charged for months. 1
A) 6 B) 75
C) 45 D) 3

10. Nandan and Abhinandan were partners in a firm. They admitted
Govindan as a new partner for 1/3™ share in the profits. On Govindan’s
admission, the Balance Sheet of the firm showed sundry debtors at
Z 3,00,000 and a provision for bad debts at ¥ 24,000. It was decided to
maintain the provision for bad debts at 10% of the debtors.

Which of the following journal entries will show the correct accounting

treatment for the above transactions ? 1
Journal
Particulars Dr. Amount | Cr. Amount
® ®
(A) |Revaluation A/c Dr. 30,000
To Provision for Bad Debts 30,000
(B) |Revaluation A/c Dr. 6,000
To Provision for Bad Debts 6,000
©) Govindan’s A/c Dr. 2,000
To Provision for Bad Debts 2,000
(D) Nandan’s A/c Dr. 2,000
Abhinandan’s A/c Dr. 2,000
Govindan’s A/c Dr. 2,000
To Provision for Bad Debts 6,000

67/7/3 #9# P.T.O.
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12.
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(h)

@)

(h)

)

ST, TorSTei T 37 U BH H WS A qAT 3 : 2 : 1 9 TIATA | SATH-8T 6T
TorvITSiT =t & | 1 3704e, 2024 9 S AT 1 5 < 3 @ 2 o AT A e I
Tty fomarm | 5 e o ToTq W ol @ 1 qearie € 6,00,000 TR T |
TTEERT = TATd @TAT Wil fo[1 AT % Th@iehd ol o fora | Tt afsr &

TRl & WTd Sfere 31aT shige foru SITaT 2

(A) 3T % GTd & T 6,00,000 ¥ fere g fosmid & @ i £ 6,00,000
U shiee |

(B) fosrid & @ &1 £6,000 ¥ 3fere 99T 3 & @ & 6,000 ¥
e |

(C) foaoria & @rd &1 ¥ 20,000 ¥ 3fere q9T 3T & @I F 20,000 &
Hiee |

(D) 3Fd % @Td &l ¥ 20,000 ¥ 3fere qor fasEd & @ & 20,000 &
WHiee |

AT

3787, T T AI=AT U W o TSGR I qAT 4 : 3 @ 2 ST & AT T
TSI L 9 | 1 973, 2024 & 3R o fon fop wfosr g9 2:4:3%
AT | AT 1 forarem iy | Fefafaa & &« favsm siquma §
GTErd= % SHROT ATEIET o AT ST T hl IE<TT :

(A) 3T HT AT 1/9, T T =TT 1/9, WIRAT HT SATHATHT 2/9

(B) 3781 T AT 1/9, T T ST 1/9, HT=AT T AT 2/9

(C)  37&TF T T 2/9, T T STTUATH 1/9, HIAT T HATHATT 1/9

(D) 3783 T ATATT 2/9, T T AT 1/9, WIAT 6T T 1/9

X fafie 32 100 9 & 100 310 1 T 15 9id 3191 (2 5 Hiftem wfE) Hr
TS TIRT 3BT YA T shL O &7 kL foralm | € 50 Sfer ey oht Srw ey sifem
AT ST T 37T o el ohT 113 off | ST ST @t o 7 & § i1 ohl 78 TR
off -

(A)  T4,500 (B) 1,500

(C) ¥10,000 (D) ¥5,000
HAYAT

T fffes 32 10 T o 500 3T oAl T 2 ST 321 3t 3w ATemT shr o
= T O 0T R T | B0 foRT T eI H & 300 S RN % 12 Wi 3far quf
STET O TR T T | i Eer ETd H S Aidi b S At T off ;

(A) T2,400 (B) ¥3,000
(C) T4,000 (D) ¥5,000
#10 #
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11. (a) Jayant, Vijayant and Anant were partners in a firm sharing profits
and losses in the ratio of 3 : 2 : 1. With effect from 15t April, 2024,
they decided to share the profits in the ratio of 5 : 3 : 2. For this
purpose, the goodwill of the firm was valued at ¥ 6,00,000.
The partners decided to treat goodwill without opening goodwill
account. By what amount will the partners’ accounts be debited or
credited ? 1

(A)  Debit Anant by % 6,00,000 and Credit Vijayant by % 6,00,000.
(B)  Debit Vijayant by % 6,000 and Credit Anant by % 6,000.

(C)  Debit Vijayant by 20,000 and Credit Anant by % 20,000.

(D) Debit Anant by % 20,000 and Credit Vijayant by % 20,000.

OR

(b)  Akshay, Reet and Manya were partners in a firm sharing profits and
losses in the ratio of 4 : 3 : 2. With effect from 15t April, 2024, they
decided that in future, they will share the profits and losses in the
ratio of 2 : 4 : 3. Identify the gain or sacrifice by the partners due to
change in the profit sharing ratio from the following : 1

(A)  Akshay’s sacrifice 1/9, Reet’s sacrifice 1/9, Manya’s gain 2/9
(B)  Akshay’s gain 1/9, Reet’s gain 1/9, Manya’s sacrifice 2/9
(C)  Akshay’s sacrifice 2/9, Reet’s gain 1/9, Manya’s gain 1/9
(D)  Akshay’s gain 2/9, Reet’s sacrifice 1/9, Manya’s sacrifice 1/9

12. (a) X Ltd. forfeited 100 shares of ¥ 100 each for non-payment of the
allotment money of ¥ 15 per share (including premium ¥ 5). The first
and final call of ¥ 50 per share was not yet made. The amount that

was debited to share capital account was : 1
(A) ¥4,500 (B) %1,500
(C) ¥10,000 (D) ¥5,000

OR

(b) Raman Ltd. forfeited 500 shares of ¥ 10 each for non-payment of
final call of ¥ 2 per share. Out of the forfeited shares, 300 shares
were re-issued at ¥ 12 per share fully paid-up. The amount that was

transferred to Capital Reserve Account was : 1
(A)  ¥2,400 (B) ¥3,000
(C) %4,000 (D) ¥5,000

67/7/3 #11 # P.T.O.
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[
13. wEey Al 3 % 10 Tcdsh % 300 AW T 807 KL fofam | geor sht 71 TR % 2,700
oft | et 3fT Afereraw e R Bt o ox 57 3t bt i fopam St ek @ 2 1
A %9 B) %1
C) %3 D) %2

14. ST QT AR Ueh 6 & ATeiar off T 2 @ 1 % U7 H Ard-a1i o1 forrsi st off |
1 37, 2023 1 FHH o ATHT H 1/4 WIT 6 TeTT T8 bt T 2T ATRIGR 01 71T | 34 i
% 1,20,000 o ~IcH SATH hT TS <1 TS | 308 g3 Torelt ofY shefl =l qST o ) a1
AT TorTSi ST H a8 Syl | 31T, 2024 T THT 5T Y H HH 4  3,60,000

16 W TSIt R | ST G e 2hT T8 ohet shi 3T &Il - 1
(A)  ¥20,000 (B) ¥1,20,000
(C) ¥10,000 (D) ¥1,60,000

15. Igfar s feu & S1feher (A) Qe SR (R) 1
HMHIT (A) : FH o RN hT YA HA o [T T HTeHaR shl (it aiceaft o1 ot

I R ST HehaT 2 |

FNU (R) : WH o 1T o [oTT Ueh HTSIRR ohY 23ar Hifd e 2 |
Freafefaa o 9wt faemey 1 = i

(A)  IRHAT (A) TTeAd 2, SAferT RoT (R) 9= R |

(B) AN (A) T8 8, wifehT %o (R) T ¢ |

(C) 3T (A) TUT HRT (R) THT Tl &, ATKT HROT (R), 0GR (A) il Tt
T 7T T 2 |

(D) YT (A) TUT HROT (R) ST T & qAT SR (R), ATTHH (A) i Tt
ST AT R |

16.  SHUHT ST ST YSHT o6l o8 TIRT ST Shut 3T |HT UTHE Foorm (SeTae J9) o R Feifira

T B AT &, ST S 8 - 1
(A)  Frifr gsit (B)  3ATferd gsit
(C) e Ysfi/dsfispa it (D) 3Afed ysit

EE— ANANNNAAANNANNAANANANN
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[CORES
13. SQ Ltd. forfeited 300 shares of ¥ 10 each. The amount forfeited was
¥ 2,700. What will be the maximum discount per share at which these

shares can be reissued ? 1
A %9 B T1
C) =3 D) %2

14. Pooja and Kumari were partners in a firm sharing profits and losses in the
ratio of 2 : 1. On 15t April, 2023, Noori was admitted for a new partner 1/4th
share in the profits of the firm. Noori was guaranteed a minimum profit of
T 1,20,000. Any deficiency on this account was to be borne by Pooja and
Kumari in their profit sharing ratio. During the year ended 315 March,
2024, the firm earned a net profit of T 3,60,000. The amount of deficiency

borne by Pooja will be : 1
(A) %20,000 (B) %1,20,000
(C) %10,000 (D) %1,60,000

15. There are two statements Assertion (A) and Reason (R) : 1

Assertion (A) : Private assets of a partner can also be used for paying off
the firm’s debts.

Reason (R): Liability of a partner for acts of the firm is limited.
Choose the correct alternative from the following :

(A) Assertion (A) is incorrect, but Reason (R) is correct.

(B) Assertion (A) is correct, but Reason (R) is incorrect.

(C) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not

the correct explanation of Assertion (A).

(D) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

16. The amount of share capital which a company is authorised to issue by its
Memorandum of Association is known as : 1
(A)  Issued Capital (B) Reserve Capital
(C) Nominal Capital/Registered Capital (D) Subscribed Capital

EE— ANANNNAAANNANNAANANANN
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18.

19.

67/7/3

AT ST T Toh BH H HISIER & qAT 7 : 3 % AT H ATW-TH oh1 st o o |
31 AT, 2024 3 &H 1 forere & m | fafay iR Qe o sifafer) qor g
T&T QAT bl TG @I H SEATANG HL o I AT e g ;

(1)

(i1)

(iii)

T N, T % 40,000 o RUT 1 Zofd 0T o &Y H AR T feam
o, 4 quf 9 W % 37, Oooww'cn:r%ml
sﬂﬁwmﬁ@w%wﬁw,oo,ooo o s T, R 50,000
FHHITE % ®7H fA |

% 36,000 o T %! Y01 (U 5 £ 33,000 T A fohT T |

AT AT EI 3hT Jciehi § ITeh A-aHT 3 fIT 3trergareh s gfafsat hifs |

(%)

)

(%)

)

VT T 3] U HH H AR & TAT 4 @ 1 3 AT H ATH-B1 b FordTsi bt
o | R ) B 3 AT 1/4 m%ma@mﬁmﬁmlwﬁaﬁ@ﬁm
AT ¥ 4,00,000 foparm mam | fww £2,00,000 ot St % w9 # qer
% 60,000 3T AT b1 ATl Siferers 3 & 3 w7e AT | oo o ST 3 g vt
aﬁrwaﬁﬁ@ﬁ%o ,000 T 715 778 off |
ﬁw%mwwﬁﬁﬁ@ﬁ%%ﬁﬁsﬁgwmiﬁwqw* ST Sfafsar
HifSTT |

AT

AT ST TSITT T W 3 WISIER & TT 4 : 3 3 STATT | ATW-8TH o7 ForTs et
o | 3R A 1 FH o AT H 1/5 WINT o foTq ATSIGRT & ST foa | e ot @t
T Hed o SATATHT o I 9T o 3 o TR G TR ST | s 37ted
TS AT ¥ 80,000 T | =@ # fofriifor it = 2,00,000 off qerm wireeer 6t
"I & 10% ot | W 510 18 17 ATt e o6t iR 2l 1o hifs |

1 3T, 2024 T 991 fafHes F 1 fafies & = 12,00,000 FT HHI=L o
% 20,00,000 3T TR T 5637 TohaT | sﬂﬁsazﬁf?, 00,000 TT3T T T3 T
eﬂaﬁmm%m | ¥ 35,00,000 % 5T fHe 1 IO % 2,00,000 FT 5F
wﬁﬁiﬁaa@swm% 100 ST 3 11% FeT 31 109% e o Fifir
e ToRaT THIT |

gyt fafiee i qeaw § SWad Al & AT e UsHmen gfatsat
EAIE L

AT

Tt ferfivee 3 srerrer forfiree @ £ 1,98,000 Hear <At wfiadt wiltel | s el
T YA T 100 T 8% FeoTTT Y 10% % a1 T Freffirer sk forarr 1T |
() ﬁf&lﬂﬁﬁqﬂﬁmumm ST GAT T TUET T |

(ii) TR 3 S T SROTYAT o 1A sht TSI VST Jia 9T ShifsTe |
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18.

19.

67/7/3

Lata and Dheeraj were partners in a firm sharing profits and losses in the

ratio of 7 : 3. On 315t March, 2024, the firm was dissolved. After

transferring various assets (other than cash) and third-party liabilities to

Realisation Account, the following transactions took place :

1) A debtor whose debt of T 40,000 had been written off as bad, paid
¥ 37,000 in full settlement.

(ii)) Land and building was sold for ¥ 9,00,000 through a broker who
charged ¥ 50,000 as commission.

(iii) Creditors amounting to ¥ 36,000 were paid ¥ 33,000 in full
settlement.

Pass necessary journal entries for the above transactions in the books of

Lata and Dheera;. 3

(a)  Bharat and Ishu were partners in a firm sharing profits and losses
in the ratio of 4 : 1. Rishab was admitted into partnership for 1/4th
share in the profits of the firm. Goodwill of the firm was valued at
¥4,00,000. Rishab brought % 2,00,000 as his capital and ¥ 60,000 out
of his share of goodwill premium in cash. At the time of Rishab’s
admission, goodwill was appearing in the books of the firm at
% 50,000.
Pass necessary journal entries for the above transactions in the
books of the firm on Rishab’s admission. 3

OR

(b)  Sana and Rajesh were partners in a firm sharing profits and losses
in the ratio of 4 : 3. They admitted Sonu into partnership for 1/5th
share in the profits of the firm. Goodwill of the firm was to be valued
at three years’ purchase of super-profits. Average net profit of the
firm was T 80,000. Capital employed in the business was
£2,00,000 and normal rate of return was 10%. Calculate the amount
of goodwill premium brought by Sonu. 3

(a) On 18t April, 2024, Varsha Ltd. purchased from Rama Ltd.,
furniture at ¥ 12,00,000 and machinery at T 20,00,000. It also took
over its liabilities amounting to ¥ 3,00,000. The purchase
consideration of ¥ 35,00,000 was paid by issuing a bank draft of
2,00,000 and the balance by issue of 11% Debentures of € 100 each,
at a premium of 10%.

Pass necessary journal entries for the above transactions in the
books of Varsha Ltd. 3

OR

(b)  Roshni Ltd. purchased machinery worth ¥ 1,98,000 from Prakash
Ltd. The purchase consideration was paid by issue of 8% debentures
of €100 each at 10% discount.

) Calculate the number of debentures issued.
(i1)  Pass necessary journal entries for purchase of machinery and
issue of debentures. 3
— AN NNAAANANANANNANNAANANANN
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YT, W qAT TS TF FH 7 THGR A qAT3 2 2 : 1 % UM | ATH-EI T s
HA U | 1 3TA, 2024 T TSH § BF & Fargid a1 Foir fom | 37 fafsr s d=m,
qiEaft & qAHeA R T QAArAl o YU 3 AT HIESH Hid & IZe
3G ST @A T A T 1,80,000 T | el 3R FY 30k T F QO e 7 39
% 2,20,000 3T AT 3L % fIT T@dd 8T |

AT | TS o 9T bl TTUMT ShifSTT oI 38 TTT STTaveh UsHTH=T SiaiSat hif |

Sieuad fafies i geashi § Fefafad ael o fog ot & Frie i stewas

st Tfafest Hifse

(i) ¥ 100 I & 4,000, 8% TG T FTHT 10% s I foh=m 7, fSiept e
SENER SRR SR CRIS Ll

(i) %100 T3% & 1,000, 8% FOTGAT T (10T 10% it o foa mm, fSeerr
INEE 5 ST o gvaETd 5% Sty . fomam st |

T, TIE T FoReTi Teh W & WTSIER S 7 3 @ 2 ¢ 1 3 3T § ATw-gTH 1 st

LA & | B AT etk Sf o 31 AT ol oid Ll 8 | 1 3T, 2024 1 TR Al 7eg

BT | WTSIET Hore § e ot fop fopett +ft asier ot 9oy w36 freuress Frefafeaa

% EHAT B :

(1) 38 ST @I T I T IHHT IATE |

(i) ISR 129% a1 & =T |

(iii) AT B IHERT AT |

(iv) 35! qeg ot fafer 7ok ®H o Al | 36T W, fSreeht T foset =m awi &
3G AT o ST YL h AT |

fopaTie sht e <At fafer o e ot gerent | frefetfae STTeprdl ore &%

(F) 1 31U, 2024 T 36k GSiT WA T AT T4,00,000 AT 3R 39 fafr a6 36
31T ITER % foTT T 90,000 T TS foha |

(@) TRt ot 7eg ot wH ohl Tl T Heish % 60,000 forar T |

(M ¥ % U T’ qUf awl & A ¥ : T 2,00,000,  2,20,000, T 1,20,000 T
£1,80,000 |

ToheTt o fouTashi shT STEd 3t o ToTq Seeht GSfl @t I’ shifST |
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20. Diksha, Krish and Rajan were partners in a firm sharing profits and losses
in the ratio of 3 : 2 : 1. On 15t April, 2024, Rajan decided to retire from the
firm. On that day, the balance in his capital account after making the
necessary adjustments on account of reserves, revaluation of assets and
reassessment of liabilities was ¥ 1,80,000. Diksha and Krish agreed to pay
him % 2,20,000 in full settlement of his claim.

Calculate Rajan’s share of goodwill and pass the necessary journal entries

for the same. 3

21. Pass necessary journal entries for the issue of debentures in the books of
ZX Ltd. for the following transactions : 4

1) Issued 4,000, 8% Debentures of ¥ 100 each at a discount of 10%

redeemable at par after 5 years.

(i1)  Issued 1,000, 8% Debentures of ¥ 100 each at a premium of 10%,

redeemable at premium of 5% after 5 years.

22. Hans, Sohan and Kishore were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. The firm closes its books on 315t March every
year. On 15t August, 2024, Kishore died. The partnership deed provided
that on the death of a partner, his executors will be entitled for :

(1) Balance in his capital account less drawings.

(i1)  Interest on capital @ 12% p.a.

(iii) His share of goodwill.

(iv) His share in the profits of the firm till the date of his death
calculated on the basis of average profit of the previous four years.

The following information was obtained from the books of the firm on the

date of Kishore’s death :

(a) Balance in his capital account on 15t April, 2024 was % 4,00,000 and
he had withdrawn ¥ 90,000 till that date for his treatment.

(b) Goodwill of the firm on Kishore’s death was valued at ¥ 60,000.

(c) Profits of the firm for the last four completed years were :
% 2,00,000, ¥ 2,20,000, ¥ 1,20,000 and ¥ 1,80,000.

Prepare Kishore’s capital account to be presented to his executors. 4
ANAANAANANANANAANANNN
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JHT AT T T T H ATSER & TAT 2 : 3 3 ST H TATH-BTH T FordTST
9| 31 AT, 2024 T 3RT Rt faeror Fafafgd Tr & o

31 HTE, 2024 <hY IAT GAT IHIT T RRerfar feror

. Tfsr N afsr
Sl @ @
ECiE Afiy qeT e 10,00,000

34T 5,00,000 BrTE 1,00,000
SR 7,50,000 | 12,50,000 | IEE 80,000
S 50,000 ST ; Wi O &
[SLSSIERIE] 5,000 75.000
T To 75,000 | Tk 40,000
FHR &fayfd 25,000 | % 1,95,000
31e forsrett fore 10,000
14,10,000 14,10,000

Suer foifer =t @@ et g @t © O ¢ w@er % w9 9 yer fern

T .

(1) I, SET AAT TAT T AT AT forToi ST 22 3 2 5 8T |

(i) =T AT STt o ®9 H £ 10,00,000 TAT SATHT HTRT % IO WA K
YT Z 2,00,000 AT |

(iii) ¥ T 7o o T I 2,00,000 H ST S |

(iv) e 10% Heasgr SwET S |

(v)  %3,000 oI SROT o SUTARE o ST AT SHERI o gord Uef Hfarer
0T o feTT 5% T STaeT fohaT STQT |

(vi) e forsTeft foret s sy fearm STTarm |

AT o Yo T ST AT o T Strersares U gt hifs |

AT
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[CORES
23. (a) Uma and Umesh were partners in a firm sharing profits and losses
in the ratio of 2 : 3. On 315t March, 2024, their Balance Sheet was

as follows :

Balance Sheet of Uma and Umesh as at 315t March, 2024

Amount Amount
Liabilities @) Assets @)
Capitals : Land and Building 10,00,000
Uma 5,00,000 Furniture 1,00,000
Umesh 7,50,000 | 12,50,000 | Debtors 80,000
Less :
Creditors 50,000 | Provision for
doubtful debts 5,000 75,000
General Reserve 75,000 | Stock 40,000
Workmen
Compensation Fund 25,000 Bank 1,95,000
Outstanding
Electricity Bill 10,000
14,10,000 14,10,000
On the above date, Daya was admitted as a new partner on the
following terms :
1) The new profit sharing ratio of Uma, Umesh and Daya will
be2:3:5.
(ii))  Daya will bring ¥ 10,00,000 as her capital and ¥ 2,00,000 as
her share of goodwill premium.
(iii) The value of Land and Building will be increased by
% 2,00,000.
(iv)  Furniture will be depreciated by 10%.
(v) ¥ 3,000 bad debts will be written off and a provision for bad
and doubtful debts be created @ 5% of debtors.
(vi)  Outstanding electricity bill will be paid off.
Pass necessary journal entries for the above transactions on Daya’s
admission. 6
OR
E— AN NNAAANANANANNANNAANANANN
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)

A, AT AT T T FH H AIGGR A AT 3 : 5 ¢ 2 F I H ATH-BT B
TS o 9| 31 9T, 2024 3T SR Rt fereror Fefefad yem @ o

31 |, 2024 Y T, =TT AAT TeaT o Feerfer feraor

® ®)
qsh CIEKRICE] 9,50,000
Tael  2,00,000 BREKRIRNIEN 2,00,000
=T 3,00,000 iR 50,000
I 5,00,000 | 10,00,000
G G2 80,000 | ¥ 70,000
A et 1 o 2,00,000 | e 95,000
2T - wiawer ko
%%I’Q‘SI’IH‘H’H 5,000 90,000
ISR ALY 1,50,000 | 5 70,000
14,30,000 14,30,000

Sufer fafer st freforfiad ot ox =mr o & Gafe &t

(1) H ol ©ATId T qedih ¥ 1,20,000 ToRaT T T 3800 & =1 o AT

o1 Y ATRHGRT o ST @il o AT & AHTEAST fohaT STTaT |
9IfH T W 1 50,000 | ST ST |

(ii)
(iii)
(iv)
(v)

I AT A T 10% HARTE ST ST |

(vi)

Gt AT T A o, IT: ol 0 T hl STTareghell T off |
% 65,000 & AT Afcafaad o |
AT T S T 3Gk 0T WA H ESEdidid oL al T8 |

AT ! QerTHE T W e TR Tt T Al & St @rd dam shifsg |
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(b)

Naval, Nyaya and Nritya were partners in a firm sharing profits
and losses in the ratio of 3: 5 : 2. On 315t March, 2024, their Balance
Sheet was as follows :

Balance Sheet of Naval, Nyaya and Nritya as at

315t March, 2024
1 eqess Amount Amount
Llabllltles (%) ASSGtS (?)
Capitals : Land and Building 9,50,000
Naval 2,00,000 Plant and Machinery 2,00,000
Nyaya  3,00,000 Furniture 50,000
Nritya  5,00,000 | 10,00,000 | Stock 70,000
Debtors 95,000
General Reserve 80,000 Less.: .
Provision for
doubtful debts 5,000 90,000
Mrs. Naval’s Loan 2,00,000 | Bank 70,000
Creditors 1,50,000
14,30,000 14,30,000

On the above date, Nyaya retired from the firm on the following

terms :

1) Goodwill of the firm was valued at T 1,20,000 and Nyaya’s
share of the same was to be adjusted through the capital
accounts of remaining partners.

(ii)
(iii)

(iv)

debts was not required.

(v)
(vi)

account.

Prepare Revaluation Account and Partners’ Capital Accounts on
Nyaya’s retirement.

#21#
—

Land and Building was to be increased by % 50,000.
Plant and Machinery will be depreciated by 10%.
All debtors were found to be good, hence provision for bad

Investments of ¥ 65,000 were unrecorded.
Amount payable to Nyaya was transferred to his loan

ANANNNAAANNANNAANANANN
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TSI, TSI T o] @Wﬁﬁmﬁﬁﬁz 12 1 1 % FIUTA H ATW-BTI T ForwTsi
I | 31 °TE, 2024 w1 3hT Rfe forawer fFafafad g a o

31 HTEI, 2024 hHT TAT, TAT qAT AT aht Rerfar femror

— qfsr N qfsr
®) ®)
ERLE T T Wa 9,00,000
TSl 3,00,000 AT qAT I 6,00,000
BSEl 4,00,000 LEiicEy 1,20,000
ESEil 5,00,000 | 12,00,000 | e 80,000
o ; G swon
F AU gEa™ 8,000 72,000
= T= 1,60,000 | yrer foret 18,000
SEED 80,000 | ¥t 1,00,000
T[T hT R0 3,00,000 | S 1,30,000
SATHT ST ohT 0T 1,90,000
EESEEL 10,000
19,40,000 19,40,000

Iqerd foifer T o o foreret &1 TIIT | qiCEaTert ohi St shi 115 oI STl o1 Tt
freferfeaa srepm & foram marm -

(i) VT $eT T % 20,00,000 F o= feaT AT |

(i) SR qUT AR @ 3o TEash o € 40,000 FH SO T T Frf o Rl T
370 @ o Ut fgem & & fora |

(iii) ST T 9T foredt & % 90,000 AT A &3 |
(iv) &2 1 60% TSI T&dsh qed o 90% W o fofam q 2% €21k 6 T 44,000
T e 8% |
(v)  37ex asigll o1 quF el okt feam T |
(vi) 10,000 STS G Swe TS o 0T 3hT WA fohAT 7T |
(vii) =l 9% 8,000 ¥ |
ST WTAT AT HITT | 6
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Raja, Rajan and Rajani were partners in a firm sharing profits and losses
in the ratio of 2 : 2 : 1. On 315t March, 2024, their Balance Sheet was as

follows :
Balance Sheet of Raja, Rajan and Rajani as at
315t March, 2024
e Amount Amount
Liabilities @ Assets @)
Capitals : Land and Building 9,00,000
Raja 3,00,000 Plant and Machinery 6,00,000
Rajan 4,00,000 .
Rajani 5,00,000 | 12,00,000 | Furniture 1,20,000
Debtors 80,000
General Reserve 1,60,000 Less :
Provision for
doubtful debts 8,000 72,000
Creditors 80,000 | Bills Receivable 18,000
Raja’s Loan 3,00,000 | Stock 1,00,000
Mrs. Raja’s Loan 1,90,000 | Bank 1,30,000
Outstanding 10,000
Wages
19,40,000 19,40,000

On the above date, the firm was dissolved. Assets were realised and

liabilities were paid off as follows :

(1)
(i1)

Land and Building was sold for ¥ 20,00,000.
Plant and Machinery realised ¥ 40,000 less than their book value

and furniture was taken over by the creditors in full settlement of

their account.

(iii)

(iv)

Debtors and Bills Receivable realised T 90,000.
60% of the stock was taken over by Raja at 90% of the book value

and the remaining stock realised at ¥ 44,000.

(v)
(vi)

(vii)

Prepare Realisation Account.

Realisation expenses were Z 8,000.

#23 #

Outstanding wages were paid in full.

Mrs. Raja’s loan was paid with interest of ¥ 10,000.
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25. (%) HAH fAHES AT 100 T & 70,000 THAT M o (10 o foTw 1ae st
foru | fsr ForferRa e @ g oft -

e 0T — ¥ 20 Yyfaq 3
e I — T 40 Yfq 37
T qTEHT T — ¥ 20 yfaq 3T

Tyt qom M IR - 9w

1,00,000 31 o feTT STea ST BT HIT @t SATGehT bt AT TR T

T ST SATEI L feT 73T | ATAeT W e AT ferd AraeT TR 61 TS
TS I 3 TINT § L fem 3 | uep 3ivremss 51, for@ 1,000 2491 & fog
eI TohaT T, TS TR AT T HT H SHeT 8T qUT TS % L q18

3G 37T ohT BL0T ohY. oI AT 71T | S8k U=ITd S| ITeAT |11 18 | 1,400 3730 ht

Ueh SARTUTCE HIATE S AT TR 3h7 ST i § St Lol T Tod ATeT

o QU S1E I8 ST T 807 KL forarm | feefier e Sifam aremr =it 72t g

g

SR AT o o ot sht qarehl H STrergareh USTHIH= Ao 33T HifT | 6

AT

@) Fefafed St % fag e & r qur EHTE ST STeREeh USHTE

yfarfsat i :

6)) faww fafies 3 = 10 7@ & 500 39w, o= T 2 wfa 5w Hiftey
(3TTeieT WX &) W Tifera foparm am o, % 5 i 3w (e afza) i
TS T T YA T s T BT T fofam | T 3 Wiy 3 it e
T At T 7l T2 78 off | &vor foh T at sien T 11 uid
3T, 9ot e g e R fea |

Gi)  wiewfafiee 37 10 &% & 800 i 1 wwor < fora S wwz 3 uf
33T ST SO TeAT T el g% off | T 2 Wi sfwr A Tt o sifaw
AT 31t ATy R S off | SH | 400 A w1 T 7 UhT AWM, T8 Yad
RINERENIER RN ERIRI R 6
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25. (a) Mayank Ltd. invited applications for issuing 70,000 equity shares of
7100 each. The amount was payable as follows :

On Application — ¥ 20 per share
On Allotment — T40 per share
On First call — ¥ 20 per share

On Second and Final Call — Balance

Applications for 1,00,000 shares were received and allotment was
made to all the applicants on pro-rata basis. Excess application
money received with application was adjusted towards sums due on
allotment. Jay, a shareholder who had applied for 1,000 shares,
failed to pay the allotment money and his shares were forfeited
immediately after the allotment. Afterwards the first call was made.
Meenakshi, the shareholder of 1,400 shares, failed to pay the first
call money and her shares were forfeited just after the first call. The
second and final call has not been made.

Pass necessary journal entries in the books of the company for the

above transactions. 6

OR

(b) Pass necessary journal entries for forfeiture and re-issue of shares for

the following transactions :
(1) Sierra Ltd. forfeited 500 shares of ¥ 10 each, issued at a

premium of ¥ 2 per share (payable with allotment) for
non-payment of allotment money of ¥ 5 per share (including
premium). The first and final call of ¥ 3 per share was not
made. All the forfeited shares were reissued at ¥ 11 per share,
fully paid-up.

(ii))  Mahira Ltd. forfeited 800 shares of ¥ 10 each on which first
call of ¥ 3 per share was not received. The second and final

call of ¥ 2 per share was not yet called. Out of these, 400

shares were reissued as ¥ 8 paid-up for ¥ 7 per share. 6
ANAANAANANANANAANANNN
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I fAfiee T 109@35%%3@1&%@6% 1,00,00,000 T ek Ysft & Usiiepd
& 1 ST 1,00,000 FHAT 330 o % 2 T 2737 % Siftem w frifra 0 % fore emaeT
st for | Tfer o e & Qo oft

JATIET T - z3yfgdm
CICLCR Y — % 4 yfq 3w (A afza)
T ITIAT X - T2yfg e

fedia qem ifamamror - #£3 ufq iw
95,000 3T o T TG AT BT qAT Wit STTAGehT hi ST T 3Teie L feam T |
gt AT AT ot T qeT faftad Ted 8t T, et QR s 1,000 RN 9 Tt qen
ST ITAT T B |
Frfafad gt & ST e
() oframe FfED wive % sfaria feufd foawor  qwfs s areft st gsf &t
T ENf

(A %9,50,000 (B)  %10,00,000
(C)  %9,47,000 (D)  %9,43,000
(i) Qi % AICE’ W a3 1 ATl 3Aferpa gsit” sht TR B ;
A)  %10,00,000 (B)  %9,50,000
(C)  %9,40,000 (D)  %1,00,00,000
(i) Tl o AeE § aITE 9 At Tt gsf o afr et
A)  %10,00,000 (B)  %1,00,00,000
(C)  %1,00,000 (D)  %9,50,000
(iv) Qi % A8 H IS ST aATet AT T ot & ysit” ot TRy g -
(A)  %9,47,000 (B)  ¥9,40,000
(C)  %10,00,000 (D)  %1,00,00,000
(v) Tl o e § aRITS S ATt 3A1aT Wi ot e T gS o iRy an ;
(A %9,40,000 (B)  %10,000
(C)  %9,50,000 (D)  %7,000
(vi) T AT 3T TR hT SRR ST :
(A)  Aferpd ys o
B) frifradsha

(C)  firex oiq qui S&d el gsit
(D)  fires @ quf & gsit
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67/7/3

Meera Ltd. is registered with an authorised capital of ¥ 1,00,00,000 divided
into equity shares of ¥ 10 each. The company invited applications for
issuing 1,00,000 equity shares at a premium of ¥ 2 per share. The amount
was payable as follows :

On application — ¥ 3 per share
On allotment — %4 per share (including premium)
On first call — %2 per share
On second and final call — % 3 per share

Applications were received for 95,000 shares and allotment was made to
all the applicants. All calls were made and duly received except the second
and final call of 1,000 shares held by Tushar.

Answer the following questions :

1) The amount of ‘share capital’ to be shown in the Balance Sheet

under the head ‘Shareholders’ Funds’ will be : 1
(A) ¥9,50,000 (B) ¥10,00,000
(C) %9,47,000 (D) ¥9,43,000

(ii))  The amount of ‘Authorised Capital’ shown in ‘Notes to Accounts’ will
be : 1
(A) ¥10,00,000 (B) ¥9,50,000
(C) ¥9,40,000 (D) ¥1,00,00,000

(iii) The amount of ‘Issued Capital’ shown in ‘Notes to Accounts’ will
be : 1
(A) ¥10,00,000 (B) %1,00,00,000
(C) ¥1,00,000 (D) %9,50,000

(iv)  The amount of ‘Subscribed and fully paid capital’ shown in ‘Notes to
Accounts’ will be : 1
(A) ¥9,47,000 (B) ¥9,40,000
(C) ¥10,00,000 (D) ¥1,00,00,000

(v)  The amount of ‘subscribed but not fully paid capital’ shown in ‘Notes
to Accounts’ will be : 1
(A)  ¥9,40,000 (B) ¥10,000
(C) ¥9,50,000 (D) ¥ 7,000

(vi)  The amount of ‘calls-in-arrears’ will be shown under : 1

(A)  Authorised capital

(B)  Issued capital

(C)  Subscribed but not fully paid capital
(D)  Subscribed and fully paid capital

#27 # P.T.O.
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29.

67/7/3

CIURC)
ferea -1
(Ferfrr feraort = fargersom)
&) TrafaRea daeat & @ forget afomy y=mem R @ s YA BN T ? 1
(A) T (Tad) FTRT (B) QTSI ST T
(C)  ©Ufd =T s (D)  OTgAT T i
JrqaT
@) Ue=zm i forshy ot uftomm & - 1

A) e SRt @ Oere w1 afgats
(B) Tow rameraImdt & Uk T 3T=qaie

(C) o fopamenctmal @ Uehe &1 3T-adie

(D) Y= TSRATehedTal & Tehe T IT-ddig

(@) FC &1 fAfies &1 Jerem U 28% @, A IWHT T A AT

BT | 1
(A)  100% B)  72%
(C)  28% (D) 128%
YT
@) o foawr st e foxft forawor it ot aet oot fopeft amam=r Strem o wfera & &9
H S HAT S, T8 © | 1

(A)  THTCH forawor
(B) HHTT AT oo
(C)  ATV-gI feremor

(D) Tt o

A feafiee s =] sgurd 2 : 18 | frefafiad 3§ & spiH-|1 e =imey s1gurd 3 Ht
AT 2 1
(A) ST <F T YA

(B)  fuTi =1 fonimey

(C) &k (3a=dT) i &1f o farsht

(D)  =ATITIER ITC © 777G ST Tehsfihiur
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[CORES
PART B
Option -1

(Analysis of Financial Statements)

27. (a)  Which of the following transactions will result in ‘Cash Flows from
Operating Activities’ ? 1
(A)  Purchase of Inventory (B) Payment of Dividend
(C)  Purchase of Property (D)  Issue of Debentures

OR
(b)  ‘Sale of Patents’ will result in : 1
(A)  Cash outflows from investing activities
(B)  Cash inflows from investing activities
(C)  Cash inflows from financing activities

(D)  Cash inflows from operating activities

28. (a) If the operating ratio of Sana Ltd. is 28%, its operating profit ratio

will be . 1
(A)  100% B  72%
C) 28% D)  128%

OR

(b)  The statement which expresses all items of a financial statement as
a percentage of some common base is . 1
(A) Comparative Statement
(B) Common Size Statement
(C)  Statement of Profit and Loss
(D)  Position Statement

29. The Current Ratio of Manas Ltd. is 2 : 1. Which of the following
transactions will reduce the current ratio ? 1
(A) Payment to trade payables
(B)  Issue of shares
(C) Sale of inventory at a loss

(D) Cash collected from trade receivables

67/7/3 #29 # P.T.O.
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31.

32.

67/7/3

S S S A S —
FIT 1] . VS YT I ATcTd & 5 I-UHS Hal oh HIUT Uk hT AL T ST ATEL

SIHET |
frfaRaa o @ ot fasew 1 === hifv
(A) QN FATTTE |
(B) QMo €T ® |
(C) FFIHTR, FUTII AT R |
(D) FETIIHTR, FITI TR

Ut sAfafEm, 2013 # stgee 111, T I % S1gen frefofad et st o ot
Teorfer foreror # fore e fieient dom Su-fieht (3T 1S 2) % F=aeld SRTAT ST 2 3

i) g
() i I
(iii) TR
. feafies =t frefeifad o=t % STam o am= st feufa foreor Gam
Fifse 3
T | 31.3.2024 | 31.3.2023
forazor :
g T T
I — GHAT Ut 39T
1. PR it
BRIl 30,00,000 10,00,000
2. I Fdd
SrefehTat = R0t 16,00,000 8,00,000
3. el dFAg 4,00,000 2,00,000
& 50,00,000 20,00,000
II — gEF T
1. =S aREFaREt
SRS 30,00,000 14,00,000
2. =T qiEwafEr
T (392 20,00,000 6,00,000
E3U 50,00,000 20,00,000
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Statement I : Sale of marketable securities will result in flow of cash.

Statement Il : Cash flow implies movement of cash in and out due to some
non-cash items. 1

Choose the correct option from the following :
(A) Both the statements are true.

(B)  Both the statements are false.

(C) Statement I is true, Statement II is false.
(D) Statement I is false, Statement II is true.

Under which major heads and sub-heads (if any) will the following items be
shown in the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 ? 3

(1) Trademarks
(1) Calls-in-advance
(111) Livestock

Prepare a Common Size Balance Sheet of ZXT Ltd. from the following

information. 3
Particul Note | 31.3.2024 | 31.3.2023
articulars No. > =
I - Equity and Liabilities :
1. Shareholders’ Funds
Share Capital 30,00,000 | 10,00,000
2. Non-Current Liabilities
Long-term Borrowings 16,00,000 8,00,000
3. Current Liabilities 4,00,000 2,00,000
Total 50,00,000 | 20,00,000
IT - Assets :
1. Non-Current Assets
Property, Plant and
Equipment and
Intangible assets 30,00,000 | 14,00,000
2. Current Assets
Inventory 20,00,000 6,00,000
Total 50,00,000 | 20,00,000
—_— ANANANANAAANANAAAANAAANANA
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34.
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(h)

)

()

T fAfire e ot qeaeht § FeferRad gemr sed st s - 4
foramor Tfr ()
e (3941 2,50,000
ENIEISEECEIRRI 3,40,000
CNEICARIED 10,00,000
12% FeoTqs 20,00,000
ERR CRICAS 1L 9,60,000
ST & ST 3T AT 6,00,000
TWHT‘OﬁﬁI’Q :

() O AT S
(i) TS TR ST

HAYAT
freferfaa e @ sfter farfires &t =mey afterfre qem ater aftddterIt 6t TomET
Fifsre 4
T FAUE = 0-75 : 1
=TS 91 = % 6,00,000
SIS | 3T % 4,00,000 &
HoheT ATV ST ST § ST 61 20% &
T (3awgh) Ted AT = 4 AT

3o TR (3awdl) AT Tk (3awal) A T 40,000 7T o |

aHid feAfee it geaehi ¥ gy fmfrfiad g=mm & S framepedt @ s
T8’ I TUMET KIS |
FAfeTiad HaT ol € H T@ o 18 9y o QN SItsid a9 € 1,95,000 7 -

Toraor TR (@)
FER W/ qeagrE 50,000
uferfad @t 30,000
A <t forsht o =Tl 10,000
AT GO B SEial 1,05,000

TN o 3T H STIR I Z 2,00,000 T JE T TR 37 T 10,000 3T HHT F901
T
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33. (a) The following information has been obtained from the books of

Gama Ltd. : 4
Particulars Amount (%)
Inventory 2,50,000
Total Current Assets 3,40,000
Shareholder’s Funds 10,00,000
12% Debentures 20,00,000
Net Profit Before Tax 9,60,000
Cost of Revenue from Operations 6,00,000
Calculate :

(i)  Debt Equity Ratio
(i1) Interest Coverage Ratio
OR

(b) Calculate Current Assets and Quick Assets of Beeta Ltd. from the
following information : 4

Quick Ratio =0-75:1

Current Liabilities =% 6,00,000

Revenue from Operations are T4,00,000

Gross Profit ratio is 20% of revenue from operations
Inventory turnover ratio = 4 times

Inventory at the end is ¥ 40,000 more than inventory at the
beginning.

34. (a) From the following information extracted from the books of Kant
Ltd., calculate ‘Cash Flows from Operating Activities’.
Profit earned during the year is ¥ 1,95,000 after considering the
following items :

Particulars Amount (%)
Depreciation on Machinery 50,000
Goodwill written off 30,000
Loss on Sale of Machinery 10,000
Transfer to General Reserve 1,05,000

At the end of the year, Trade Receivables showed an increase of
7 2,00,000 and Trade Payables a decrease of T 10,000.

EE— ANANNNAAANNANNAANANANN
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[OFE]
(@)  der e st gkt @ 3gga frfafad gemr @ e Rt & s

(h)

()

4T shi TUHT ST |

feraror 31.3.2023 | 31.3.2024

@ @)
——y 24,00,000 | 28,00,000
A W TR AeasE (2,00,000) | (3,00,000)
22,00,000 | 25,00,000
S Rerd =
Tep Wit fSresht AT  8,00,000 off fS& 00 40,000 T Heorge o, 3t
%5,00,000 H o= fom mm | 6
AT &
e - 11
(ATIRfCT TR )

Te hicT § ST o Foreed § 9 Tal ol Bied §T gt ¥ 3ifow &t o sfiar &1
Afemrer e g=nfera femam ST @ 2 1

(A) Home + Page down

(B) Home + Down arrow ({)
(C)  End + Down arrow ({)
(D) CTRL + Down arrow ({) Shftish

YT

TR, T (hiaAd), 1T (ATET), e a1 fafir & 518w =1 W staifiaa fofam

TIT &, ST SR T AETT A (), S S 8 1
(A) <SeTErRe

(B) Saded

(C) <T@

(D) SAHARK
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(b)

(a)

(b)

From the following information extracted from the books of

Vandana Ltd., calculate Cash Flows from Investing Activities.

) 31.3.2023 | 31.3.2024
Particulars @) @)
Machinery 24,00,000 | 28,00,000
Accumulated Depreciation (2,00,000) | (3,00,000)
on Machinery

22,00,000 | 25,00,000

Additional Information :

A piece of machinery costing ¥ 8,00,000 on which accumulated
depreciation was ¥ 40,000, was sold for ¥ 5,00,000.

PART B
Option - 11

(Computerised Accounting)

How is navigation conducted from first to last cell in a cluster of data

in a column by skipping all the cells in between ?

(A) Home + Page down
(B) Home + Down arrow ({)

(C)  End + Down arrow ({)

(D) CTRL + Down arrow ({) successively

OR

Individual values represented by bars, columns, lines, pie or various

forms plotted on a chart are known as :

(A) data point
(B) datalabel
(C) data series

(D) data markers

#35#
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ST U T (HARH) 37T BT bl I3 A (YT) TS Tl Bldl dl Bhid 9 T&Rid

B aTet ?:ﬁllﬁ:{ EIRGCICEDIE 1 1
(A)  Correct #DIV/0! Error

(B) Correct #NUM! Error

(C)  Correct #N/A Error

(D)  Correct #Name Error

(F) AT @i o Uie & R g g

AT, AN, TS qoT : |
frfaRaa o @ o Tt o weem s 1
(A)  TTERI, HHeaR
(B)  SUINThdl, UTEh
(C) HTHea™, Th
(D) &Y WG, FTERIT
AT
@) Frfafaa o @ wa-d i aaieT dr H dmr gt 2 2 1

(A) S ST |

(B) TG 3Tiehg oh kAT | fHrcearrT |

(C)  3Tihel % ok B o1 WA T § |

(D) 1S @ HeRd & AT TR A9 o HRUT G & ol ¢ |

THUH TR, T Srerer o e ferfiad & & shi9-8 SHg ol sie 1 Hew odl & ? 1
(A)  IHET TAT HIT HAT

(B) IO AT T ST
(C) T hTAT AT IO hAT
(D)  ©Tdish TT YR ShEAT

o

SIhHb IS AT s mlsaﬁﬁmﬁmﬁml 3

EE— ANANNNAAANNANNAANANANN

#36 #
—



- ™ collegebatch.con

28. Identify the error which will be displayed on the screen when the value is

not available to a function or formula : 1
(A)  Correct #DIV/0! Error

(B) Correct #NUM! Error

(C)  Correct #N/A Error

(D)  Correct #Name Error

29. (a) Computerised Accounting System rests on Five Pillars :

Data, People, Procedure and ,

Identify the blank pillars from the following : 1
(A) Hardware, Software

(B) User, Customer

(C)  Software, Logic

(D) Timely access, Hardware

OR

(b)  Which of the following is mot a limitation of Computerised
Accounting System ? 1
(A)  Faster obsolescence.
(B)  Economy in processing of accounting data.
(C) Data are prone to hacking.

(D) Data may be lost or corrupted due to power interruptions.

30. MS Excel considers which of the following group of mathematical

operations to be of equal importance ? 1
(A)  Subtraction and Division

(B)  Multiplication and Addition

(C) Division and Multiplication

(D)  Exponents and Division

31. With the help of an example explain sequential code and block code. 3

EE— ANANNNAAANNANNAANANANN
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32. F=fiRad =t awesT 3
(i)  THI AR
(i) SW-feAifrd (Te-8ee) A=

(ili)  STATTRAT TRATIS (IR FSHIES) Aeat

33. (F) SHEH TAT AR (FEAESS) TG TH HITEI Hl GHATST | 4

YT

(@)  SATAEIRI HThel hl §hh TITHAT & YL W sht HATRAHAT Bl & |” THSTIT
foh arTieRfora Siieh df ht SIF-Ht fIeIyaTd sraEmer sl MU= T=rar sl ST T
H HEraT R € | 4

34. 30 foxfisr w (GT) T GHSTEY (ST IUANT U aATfeh! (annuity) st Sfer Tafer
ST &2 hl TUMET o 7T feram Smar 2 | 6
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32. Explain the following : 3
(1) Memo Voucher
(11) Post-dated Voucher

(111) User defined Voucher

33. (a) Explain ‘Generic’ and ‘Customised’ accounting software. 4

OR

(b) ‘A business data needs to be guarded from its competitors.” Explain
which features of Computerised Accounting System help a business

to maintain its secrecy. 4

34. Explain the financial function which is used to calculate interest rate per
period of an annuity. 6

67/7/3 #39#
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